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00O Program list

ocooboobooooboo40000D0DO000ODOODOOOOOOOODODOOODODODOOO
0000000000 0o0oOooD gUb00o0oooo0o00oooD 80 QRUOOOODOOO
0 ”eigen.c’00 00000

/*
sjp.c : single-j pairing
sjpla.c (sjp ver.la) : 2009/1/24
*/
#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include "eigen.c"
#include "imatutil.c"

double E_k=0;

int prepareBase(int nOrb, int N, int nBase, imatrix oc);
int printBase(int nOrb, int nBase, imatrix oc);

int printOc(int occ[]);

int printPair(int occ[]);

int QaudDef (double strength, vector spe);

int Rotation(double strength, vector spe);

double hamiltonianMatrixElement (int a, int b);

double hamiltonianMatrixElement_Fast(int a, int b);
double factorial(int k);

int J; //J=2j,j=(00000)

int N; //000 ,0<=N<=2Q

int Omg;//Omega:Q

int nOrb; //the number of orbitals =2+Omg, DO 000000

int nBase; // the number of basis states for N particles in a j shell
imatrix oc; // occupation numbers for basis states

double G=1.0; //000000O0O0O0O0O0O0O0O0OO0O

vector spe; // single-particle energy levels

int main(){
matrix h; // Hamiltonian
vector energy; // energy eivenvalues of the N particle system
vector work; // work space for eigen
int i,j;
double he;
double potStrength; // strength of quadrupole potential/Corilis field

printf ("# J(=2j)=");
J=7; //scanf ("%d",&J);
printf ("# j=hd/20n",J);

if (J%2==0 || J<0)
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fprintf (stdout, "ERROR: J=),d must be odd and positive !On",J,N);
exit(1);

}

Omg=(J+1)/2;

n0rb=2*0mg;

printf ("# N=");
N=4; //scanf("%d",&N);
printf ("# N=%dO n",N);

if(N<O || N>nOrb)

{
fprintf (stdout, "ERROR:N=),d must be in [0..%d]0n",N,n0rb);
exit(1);

3

spe=new_vector (n0rb) ;

printf ("# Potential Strength ");

scanf (")1f",&potStrength) ;

QaudDef (potStrength,spe);//000000O0OO0OODOO
//Rotation(potStrength,spe);//00

nBase=factorial (nOrb)/(factorial (N)*factorial (nOrb-N));
printf ("# j=)d/2 Omega=),d #orbitals=/d N=Jd #basis=}d0n"
,J,0mg,n0rb,N,nBase) ;

oc=new_imatrix(nBase,nOrb) ;
prepareBase (n0rb,N,nBase,oc) ;
// printBase(nOrb,nBase,oc);

h=new_matrix(nBase,nBase);
for(i=0;i<nBase;i++){
for(j=0;j<=1;j++){
he=hamiltonianMatrixElement (i, j);
h[i]l [j]l=he;
h[j][il=he;
}
}

energy = new_vector (nBase);
work = new_vector(nBase);
if (eigen(nBase, h, energy, work) == EXIT_FAILURE){
printf ("# diagonalization not converged.n");
}

printf ("# eigen values:On");

int nprint=10000; if(nprint>nBase) nprint=nBase;
for(i=0;i<nprint;i++){
printf("%d %10.6f %d0n",i,energy[i],N);

}

}

int QaudDef (double strength, vector spe){
int k;
double m,j;
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printf ("# quadrupole potential strength=/f0n",strength);
§=J%0.5;
for(k=0;k<n0rb;k++){
if (k<Omg){
m=k+0.5;
}
else{
m=-((k-0Omg)+0.5) ;
}
spe [k]=strength* (3*m*m-j* (j+1));
}
for (k=0;k<n0rb;k++){
printf ("# e[%3d]=%f0n",k,spelk]);

}

}

int Rotation(double strength, vector spe){
int k;
double m,j;

printf ("# angular velocity of rotation=Yfln",strength);
§=J%0.5;
for (k=0;k<n0rb;k++){
if (k<Omg) {
m=k+0.5;
}
elseq
m=-((k-0mg)+0.5) ;
}
spe [k]=-strength*m;
}
for(k=0;k<n0rb;k++){
printf ("# e[%3d]=%f0n",k,spelk]);
}
}

int prepareBase(int nOrb, int N, int nBase, imatrix oc){
unsigned int i,imax=0,iw;
int k; // index for the single-particle orbitals =[0..nOrb-1]
int b=0; //index for the basis states = [0..nBase-1]
int sum;

int i9;

for (k=0;k<n0rb;k++)imax= (imax<<1) | 0x01;
// printf ("nOrb=%d,nBase=/d, imax=/uld n" ,n0rb,nBase, imax) ;

for(i=0;i<=imax;i++){
iw=i;
sum=0;
for (k=0;k<n0rb;k++){
sum+=iw & 0x01;
iw>>=1;
}
if (sum==N){
if (b>=nBase){
fprintf (stdout, "prepareBase: nBase=}d too small.n",nBase);
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exit(1);
}
iw=i;
for (k=0;k<n0rb;k++){
oc[b] [k]l=iw & 0x01;
iw>>=1;
}
b++;
}
}
if (b != nBase){
fprintf (stdout, "prepareBase: nBase =)d != b= %d[n",nBase,b);
exit(1);

}

int printBase(int nOrb, int nBase, imatrix oc){
int b,k;
printf ("printBase: nOrb=J)d nBase=%d0n",n0rb,nBase);
for (b=0;b<nBase;b++){
printf("%5d: ",b);
print0Oc(oc[bl);
printf("On");

}

int printOc(int occ[1){
int k;

for (k=0;k<n0rb;k++){
printf ("%1d",occlk]);
3
}

int printPair(int occ[]){
int k,kbar;

for (k=0;k<0mg; k++){
kbar=k+0mg;
if (occ[k]==0 && occ[kbar]==0) printf("0");
if (occ[k]==1 && occ[kbar]==0) printf("u");
if (occ[k]==0 && occ[kbar]==1) printf("d");
if (occ[k]==1 && occlkbar]==1) printf("P");

}
double hamiltonianMatrixElement(int a, int b){
int bral[32];
int ket[32];
int k,k1,k2,klbar,k2bar;
double sum=0.0;
double m;

if (n0rb>32) exit(1);

for (k=0;k<n0rb;k++){
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bralk]=oc[a] [k] ;
ket [k]=oc[b] [k];
}

for (k=0;k<n0rb;k++){
if (bra[k] !=ket[k]) goto TwoBodyPartVanish;
}
for (k=0;k<n0rb;k++){
if (ket [k]==1) sum+=spel[k];
}
TwoBodyPartVanish: ;

for(k1=0;k1<0Omg;k1++){
klbar=k1+0Omg; // time-reversal partner of orbital kil
for (k2=0;k2<0mg;k2++){
k2bar=k2+0mg; // time-reversal partner of orbital k2
for(k=0;k<n0rb;k++){
ket [k]=oc[b] [k];
}
if (ket [k1]==0) continue;
ket [k1]=0; // action of annihilation operator a_{k1}
if (ket [klbar]==0) continue;
ket [klbar]=0; // action of annihilation operator a_{klbar}
if (ket [k2bar]==1) continue;
ket [k2bar]=1; // action of creation operator a”{dagger}_{k2bar}
if (ket[k2]==1) continue;
ket [k2]=1; // action of creation operator a"{dagger}_{k2}
for(k=0;k<n0rb;k++){
if (bralk] !=ket[k]) goto Vanish; //if bra and (operated ket) is orthogonal

}
sum+=-G;
/*
printPair(bra); printf(" ");
printPair(ket); printf (" ");
printPair(oc[bl); printf(" On");
*/
Vanish:;
}
}

// printf (" me=/f0n",sum);
return sum;

}

double hamiltonianMatrixElement_Fast(int a, int b){
int bral32];
int ket[32],ket1[32];

int k,k1,k2,klbar,k2bar;
double sum=0.0;

if (n0rb>32) exit(1);
for (k=0;k<n0rb;k++){

bralk]=oc[a] [k];
ket [k]=oc[b] [k];
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for(k1=0;k1<0Omg;k1++){
for (k=0;k<n0rb;k++){
ket1[k]=oc[b] [k];
}
if (ket1[k1]==0) continue;
ket1[k1]=0; // action of annihilation operator a_{k1}
klbar=k1+0Omg; // time-reversal partner of orbital kil
if (ketl1[klbar]==0) continue;
ketl[klbar]=0; // action of annihilation operator a_{klbar}
for (k2=0;k2<0mg; k2++) {
for(k=0;k<n0rb;k++){
ket [k]=ket1[k];
}
k2bar=k2+0mg; // time-reversal partner of orbital k2
if (ket [k2bar]==1) continue;
ket [k2bar]=1; // action of creation operator a”{dagger}_{k2bar}
if (ket[k2]==1) continue;
ket [k2]=1; // action of creation operator a“{dagger}_{k2}
for (k=0;k<n0rb;k++){
if (bra[k] !=ket[k]) goto Vanish; //if bra and (operated ket) is orthogonal
}
sum+=-G;
Vanish:;

3

return sum;

}

double factorial(int k){ //factorial(O0O)
if (k==0){
return 1;

}
elseq{
return kxfactorial(k-1);

3

42



